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THEODOR FRIEDRICHS

Precise in all conditions HJ

7 Pressure Chamber Version 1.1.1 o X
Chamber Temperature: ~ 22.7 °C

Ambient A Pressure: 10117 hPa THEODOR FRIEDRICHS

Ambient Temperature: 26,6 °C Precise in all conditions

Ambient rel. Humidity: 31.5%

Dynamic Data Animation Test Series Protocol

pesied: 1000.0 hPa Combilog connected

Dynamic Data Animation [IRASRRTUEEEY
Reference: 1001.0 hPa : ol Sl ;s ol o~ ~) Keyboard Settings
630

) Set Operator

sensor1: 1000.5 hPa

Create Favourite Sensors
sensor2: 1000.0 hPa ~) Sensors Setup
) Chart Settings

Snap ) Pressure to go

Pressure [hPa]

Save / Load Configuration

/M——.
Adjust'to’Ambient
Air Pressure

Time [hh:mm:ss]

Stop Auto Mode u M — Sensor 2

27.04.2017 14:20:04 : Desired
Value 1000.0hPa is reached. Reference Delay Time
27.04.2017 14:14:31 :

Measurement-No. = 5 1 01 _O h Pa 16 sec

27.04.2017 14; Desired
Value 0950.0hPa is reached.
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Precise in all conditions H
),

IAdjust to Ambient
Air Pressure.

A Time [hh:mm:ss]

Stop Auto Mode . - . .

Sensor 2

Reference Delay Time

n 1001.0 hPa  16sec 3

27.04.2017 14:14:
Value 0950.0hPa
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